#4 F 1988

o ¥ o
WONDER &% 15014001 1509001 15045001 @ (@ C¢ . Ros & sas0 & & @) (@)
T Syrchronigation with the futare

F{EBRS WEA 251

= (IE2) =R T R nR B




RR=MHAFTE

= aniffid ;

F1ERS WEA RYI=1BR P REIEFEN,
ERAELEEFE. BEMANSHEREN. %
RIBH~RABENEE. EER. INEEN
EMhE, HMEEIRMTS 1EC60034-30; 2014 (Y
IE2 fRE,

AERSIVE=RRS B ZNATIER
FURFI Tl ST, sM/kbER, =SE. 7.
R M. Rk BBIR. ATIELR. 2
M. LIZHT,

AEESEMENERATKR. £V, &
B, RERS. K. HEN. SHENRE. &
M. BRNRE—RTBA AR,

FiEBSIiRE= AR T BIFE:
-1P55 PP, F R4k, BRIRF, S1 TIEH
- BRE EB[E 400V,
- BRESMER 50Hz;
CIBITHIERE: -20°C~40°C;
CIBTER < 1000m;
- THEE 3kW R LATERHLA Y EEA
4kW R LAEBHA A EEAR;
AHEIAT: 1C411 5% 1C416,

REHI:

IM B3 IM V5
IM 1001 IM 1011

WEA

IM B35 IM V15
IM 2001 IM 2011

WEA

IM B34
IM 2101 IM 2111

WEA

IM B5 IM V1

IM 3001 IM 3011
WEA

IM Bl4 IM V18

IM 3601 IM 3611

WEA

§$*4iHTT@%€FFﬁﬁB’J IKEREAN

IM V6
IM 1031

IM V36
IM 2031

IM 2131

IM V3
IM 3031

B

IM V19
IM 3631

5

1) &8 7 WRESHN, IEC60034-7 FRLTFE X,

2) H*IMV3, IMB6, IMB8 MREAXIIDIAEZHIA.

RERES

IM 86 IM B7 IM B8
IM 1061 IM 1071

o e

IM 2051 IM 2061 IM 2071

SO D EE T

IM 215 IM 2161 IM 2171

GO e



WEA RIS =HZ TP BMIRFBIHEARLE (1/2)

IhEREFEK

YEIEER | HEEIRIE
BT T | B SRR | SRR AR

IL/In

RuRE

J(kgm?)

0.75 1 80M1 2840 178 781 78 767 078 0.69 057 6.5 3.6 4 60 0.001 10
11 15 80M2 2930 2.48 81 808 793 079 072 068 6.6 3.7 3.9 60 0.001 12
15 2 90S 2890 3 821 818 81 088 083 0.75 6.6 2.1 2.1 60 0.002 14
2.2 3 90L 2890 424 842 847 834 083 086 0.79 7 23 23 59 0.003 16
3 4 100L 2915 5.63 854 86 85 09 084 0.75 9.6 35 35 63 0.004 24
4 55 112M 2895 7.52 86.3 87 86 089 085 0.78 6.9 2.2 2.2 63 0.013 26
55 75 13281 2930 10.2 875 876 8 089 085 0.77 8.2 2.2 2.2 68 0.023 37
7.5 10 13282 2930 138 884 888 876 089 087 081 8.3 2.3 2.3 68 0.025 41
92 125 132M 2930 16.7 896 896 891 089 087 081 8.2 2.4 2.4 68 0.035 63
11 15 160M1 2940 19.6 899 837 881 09 087 08 7.9 2.6 2.6 71 0.055 92
15 20 160M2 2940 26.5 90.7 907 895 09 0838 081 8.1 2.8 2.8 68 0.064 103
185 25 160L 2940 322 912 912 901 091 085 084 7.8 2.7 2.7 68 0.073 118
22 30 180M 2950 38.1 915 912 896 091 088 0.82 8 2.4 2.4 68 0.103 149
055 075 80M1 1365 114 77765 733 073 066 052 2.8 2.1 2.4 46 0.004 12
0.75 1 80M2 1390 181 796 786 774 075 069 056 4.7 2.5 2.7 47 0.004 14
11 15 90S 1435 2.53 814 813 802 077 071 0.59 54 2.1 2.6 49 0.005 15
15 2 90L 1430 331 828 824 819 079 077 0.66 54 2.1 2.5 51 0.006 17
2.2 3 100L1 1440 4.65 843 844 832 081 075 0.64 6.8 3 3.2 51 0.007 25
3 4 100L2 1430 6.25 855 855 8 081 075 0.65 6.5 29 29 51 0.009 29
4 55 112m 1445 8.19 87 868 8.8 081 075 07 7.1 2.7 2.8 55 0.017 33
55 | 75 1328 1460 11 878 876 872 082 077 068 7.3 2.4 2.9 55 0.037 47
7.5 10 132M 1460 147 89 887 8.1 08 079 07 7.5 2.6 2.8 55 0.045 60
92 125 132M 1460 17.8 90 90 894 083 08 0.72 7.6 2.5 2.8 55 0.075 2
11 15 160M 1470 20.7 90.3 902 90 085 081 0.73 7.8 2.6 31 63 0.105 95
15 20 160L 1470 27.7 91 90.7 904 086 082 075 74 2.5 2.8 63 0.112 110
185 25 180M 1470 34 913 91 909 086 084 0.78 74 2.4 3.2 62 0.116 145

22 30 180L 1470 40.2 91.8 919 912 086 082 0.72 8 2.8 3.4 62 0.186 160



WEA RIS =HEZ P BMIRF BB ARE (2/2)

IE eSS

(EL) Rt i | B

TR T | TR | BUEiSSE bt s

J(kgm?)

037 0.5 80M1 915 1.09 709 694 688 069 061 051 3.8 2.1 2.2 44 0.002 12
055 0.75  80M2 925 155 741 728 687 069 06 052 44 2.1 2.3 46 0.003 13
0.75 1 90S 945 2.03 76 755 738 07 062 05 3.8 1.6 2.2 45 0.004 15
11 15 90L 945 29 783 775 759 07 063 051 4 17 2.2 45 0.005 17
15 2 100L 930 3.82 798 781 778 071 0.64 055 3.6 1.6 2.1 47 0.008 22
2.2 3 112M 950 5.39 81.8 817 804 072 07 0.6 4.9 2 2.3 46 0.013 25

3 4 1328 970 6.93 833 832 822 075 071 056 6.8 2.7 3 50 0.003 34

4 55 132M1 970 8.86 846 841 86 077 07 058 7.1 2.8 3 50 0.04 43
55 75 132M2 970 118 86 86 854 078 071 06 7.6 31 31 53 0.05 52
7.5 10 160M 970 16.1 874 871 8.8 077 074 063 6.2 2.5 2.6 53 0.12 75
92 125 160L 970 195 885 882 8.1 077 074 062 6.2 2.2 2.7 57 0.15 90
11 15 160L 970 22.9 889 885 876 078 0.74 0.63 6.4 2.7 2.6 57 0.23 95
15 20 180L 980 29.7 89.9 90 885 081 0.74 0.62 7.6 2.8 33 57 0.34 130
037 0.5 90S 680 13 70.8 689 66.7 058 0.53 048 3.6 23 29 46 0.005 12
055 0.75 90L 695 1.89 713 695 678 059 054 05 3.6 2.3 2.8 45 0.005 15
0.75 1 100L1 700 2.42 733 721 717 061 057 053 4.3 2.6 2.6 47 0.007 20
11 15 100L2 700 3.39 755 751 746 062 058 0.57 42 2.8 2.9 47 0.022 22
15 2 112M 700 424 7317 753 066 0.62 058 3.7 2 2.4 49 0.028 25
2.2 3 1328 710 59 803 80 79.5 067 063 06 45 2 2.6 50 0.04 5

3 4 132M 715 7.78 819 816 808 068 0.66 0064 4.8 2.2 2.7 50 0.05 41

4 55 160M1 715 9.55 828 826 816 073 071 067 4.6 19 2.5 53 0.09 63
55 75 160M2 720 127 845 843 823 074 07 068 4.8 19 2.5 53 0.1 5
7.5 10 160L 720 17 86 8.1 8.2 074 071 067 54 2.3 2.7 50 0.11 95
92 125 180M 720 20.6 872 87 86.1 074 0.72 0.69 57 2.3 2.6 55 0.18 102

11 15 180L 725 24.5 877 875 868 074 072 07 59 2.3 2.7 55 0.22 107



WEA %% B3 B35 B5 SMEERERTE

LD AD

5%

I

[
bl
qd

B

B3

GA
¢ |
|
g
5 1|‘mr
H;AJmMLA
LI

M

[

|

DAC

HD

-

HD

B35

GA ,
|
N
G i
op
SN
]
|
T
L] |
HH
E::
1
|
PAC

LA

B5

GA
N
N\
G
PP
PN
|
I
ISl
|
H:‘
@
T
PAC

pn/-0] T

(mm)

NES
19 130 123 76 295

T
80M 125 625 100 50 M6X16 40 6 155 80 4-®10 M20X1.5 165 200 0 4-®12 35 165 21.5 160 203 95

90S 140 70 100 56 24 M8X20 50 8 20 90 4-9®10 M25X1.5 165 130 200 O 4-®12 35 190 27 185 146 236 10 81 305
90L 140 70 125 56 24 M8X20 50 8 20 90 4-010 M25X1.5 165 130 200 0 4-®12 3.5 190 27 185 147 236 10 86 330
100L 160 80 140 63 28 MI10X22 60 8 24 100 4-®12 M25X15 215 180 250 0 4-®15 4 210 31 205 159 259 12 79 373
112M 190 95 140 70 28 MI10X22 60 8 24 112 4-d12 M25X15 215 180 250 O 4-d15 4 240 31 230 169 281 12 86 380
132S 216 108 140 89 38 M12X28 80 10 33 132 4-®12 M32X15 265 230 300 0 4-®15 4 275 41 265 194 324 14 129 424
132M 216 108 178 89 38 MI12X28 80 10 33 132 4-d12 M32X15 265 230 300 0 4-d15 4 275 41 265 192 324 14 130 462
160M 254 127 210 108 42 M16X36 110 12 37 160 4-d15 M40X15 300 250 350 O 4-®19 5 315 45 315 240 400 15 154 612
160L 254 127 254 108 42 MI16X36 110 12 37 160 4-®15 M40X15 300 250 350 O 4-®19 5 315 45 315 240 398 15 154 656
180M 279 139.5 241 121 48 M16X36 110 14 425 180 4-®15 M40X1.5 300 250 350 0 4-®19 5 350 51.5 355 258 438 15 159 685

180L 279 139.5 279 121 48 MI16X36 110 14 42.5 180 4-®15 M40X1.5 300 250 350 0 4-®19 5 350 51.5 355 256 438 15 161 723



WEA %% B14 B34 {MERERTE

GA

P
®N
DAL

B14 % e =

=
o
Q\Q

—

HD

Tt LIt w 5
B34 g% 38— = =
#D_\DH il .
Ui e
E C B K
A/2
L A
AB
BAC
4 @
: LT
S 2 Hj,ji_,tﬁ c
V18 §ic Il L
o0 N BYisim N m O0E]
LD L HH‘H
|
T’ ! ¢

80M 125 62.5 100 50 19 M6X16 40 6 155 80 4-¢10 M20X15 100 8 80 O 4-M6 3 165 215 160 141 201 76 295

90S 140 70 100 56 24 M8X20 50 8 20 90 4-10 M25X15 115 95 140 0 4M8 3 190 27 185 165 235 86 305
90L 140 70 125 56 24 M8X20 50 8 20 90 4-910 M25X15 115 95 140 0O 4M8 3 190 27 185 165 235 81 330
100L 160 80 140 63 28 M10Xx22 60 8 24 100 4-®12 M25X15 130 110 160 O 4-M8 35 210 31 205 1775 2575 79 373
112M 190 95 140 70 28 M10X22 60 8 24 112 4-®12 M25X15 130 110 160 O 4-M8 35 240 31 230 199 279 86 380
132S 216 108 140 89 38 MI12X28 80 10 33 132 4-®12 M32X15 165 130 200 0 4-M10 4 275 41 265 221 321 129 424

132M 216 108 178 89 38 MI12X28 80 10 33 132 4-®12 M32X15 165 130 200 0 4-M10 4 275 41 265 221 321 130 463



WEA 2% V1 IMEERERTE

GA_
;
DO

LD

RERT (mm)

HMEES
19 130 123 203 95

T
80M 125 625 100 50 MEX16 40 6 155 80 4-®10 M20X1.5 165 2000 0 4-®12 35 165 21.5 160 5 76 295

90S 140 70 100 56 24 M8X20 50 8 20 90 4-®10 M25X15 165 130 200 0 4-®12 35 190 27 185 146 236 10 81 305
90L 140 70 125 56 24 M8X20 50 8 20 90 4-910 M25X1.5 165 130 200 0 4-®12 3.5 190 27 185 147 236 10 86 330
100L 160 80 140 63 28 MI10X22 60 8 24 100 4-®12 M25X1.5 215 180 250 0 4-915 4 210 31 205 159 259 12 79 373
112M 190 95 140 70 28 M10X22 60 8 24 112 4-®12 M25X1.5 215 180 250 0 4-®15 4 240 31 230 169 281 12 86 380
132S 216 108 140 89 38 M12X28 80 10 33 132 4-®12 M32X15 265 230 300 0 4-®15 4 275 41 265 194 324 14 129 424
132M 216 108 178 89 38 MI12X28 80 10 33 132 4-d12 M32X15 265 230 300 0 4-d15 4 275 41 265 192 324 14 130 462
160M 254 127 210 108 42 M16X36 110 12 37 160 4-d15 M40X15 300 250 350 O 4-®19 5 315 45 315 240 400 15 154 612
160L 254 127 254 108 42 M16X36 110 12 37 160 4-d15 M40X15 300 250 350 O 4-®19 5 315 45 315 240 398 15 154 656
180M 279 139.5 241 121 48 MI16X36 110 14 425 180 4-®15 M40X1.5 300 250 350 0 4-®19 5 350 51.5 355 258 438 15 159 685

180L 279 139.5 279 121 48 MI16X36 110 14 42.5 180 4-®15 M40X1.5 300 250 350 0 4-919 5 350 51.5 355 256 438 15 161 723



WEA R5HR=NERHE

HES #¥5% (rpm) &EH (mm/s)

80-132 600-3600 0.71

132-180 600-3600 121

WEA R5H#E S

80 6204-22/C3 6203-27/C3
90 6205-27/C3 6204-27/C3
100 6306-27/C3 6205-27/C3
112 6306-27/C3 6205-27/C3
132 6208-27/C3 6206-27/C3
160 6209-27/C3 6209-27/C3
180-2P 6211/C3 6211/C3

180-4-8P 6311/C3 6211/C3



WONDER &%

% 3F 1988

EMPEBRSBRATE

it EEABMNTEFTAREKRIRERKFK 120 5
kR : www.wonderfz.com

IiRFE: wonder@wonderfz.com

BXZAMIE: 0591-83998899

I fEER: 0591-83998666

REREBIBRAE

it BRAERENBETIRXIGAR 239 5
®dkFLL: www.wonder-cn.com

AVERFS: wonder@dayu-casting.com
BXZHiE: 0593-6379666 6379988

lkfEE: 0593-6379999

FBERENBEERRATE
Hihk: _ESSHITOXFER 203 SKE 2308 =
kBB : shpld@126.com

BXZAHIE: 021-65355573
EIfER: 021-65460669

V4 —
FEBSSRALILEF
Husik: No.11, Jalan Meranti Jaya 16, Taman Meranti Jaya
Industrial Park, 47120 Puchong, Selangor, Malaysia
ILEB#E: sales@wonderelectric.com.my
BXZHiE: +603-8063-9399

HiEBRSHINEAE

#bfik: No. 111, Neythal Road, Singapore, 628598
Il #BFE: wondersg@singnet.com.sg
EXZHiE: +65-6265-8698



